Math 240 – Spring 2005

Homework #7 (shortened)

Counts as half of one homework 
Due date: March 21
All work must be shown in order to receive full credit
For each of these difference equations, find the equilibrium (the “fixed point”) value yeq, which is the value that yn will eventually approach. You don’t have to use Matlab, but you may use it to check your answer. 
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Note that initial conditions are not important in this problem, since the solution will approach this equilibrium (
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) no matter what the initial condition is (if such equilibrium exists).
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